== A
N = 0 & AF S 99 N A
2020 = 20l A LEHSIH AFSI = X
A AMIEX
B Fo)s 25 L X
¢ FUSI MHIAAY (9 ® =)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
ALS S X 137,573,049 118,418,125 19,154,924
= 97,647,093
Al 34,811,080
- 5,114,876
FAH=Es E5 ¢ XA 4,236,021 3,828,236 407,785
= 574,277
Al 3,215,518
- 446,226
FO0I=2X AHIAANY 4,236,021 3,828,236 407,785
= 574,277
Al 3,215,518
- 446,226
X ALS X 23,150 23,150 0
201 et 9| 21,350 21,350 0
01 AP 2t 2] d| 6,350 6,350 0]
OXNYASBEHSEAM(HE , AR) 3o &G 5,600
OXEANIER AXE ANBHEA M2
15,000 x50 750
03 A2 E H| 15,000 15,000 0
O=sXees M 15,000
203 €2 F=&d| 1,800 1,800 0
03 AIZH =& 2 F XY 1,800 1,800 0
O=XJ|et2xs &4d35 2,000,000 *90% 1,800
SXNE2EEI, MIISAAIE SAFXE AP &E 9,000 9,000 0
201 et d| 9,000 9,000 0
01 AFR 2t 2| H| 9,000 9,000 0
O=2XNYL SALA 92 235 9,000
B EAY 1,329,050 1,205,450 123,600
Al 1,285,200
- 43,850
201 LBt 2,350 2,350 0
02 =224 H| 2,000 2,000 0
O8SANE =&KX 224 2,000
03 A2 H| 350 350 0
O4. 1989 J|E AEE SA =2 A} 350
stat, HANES(E S) ¢ 350
301 LEtE A= 1,324,700 1,201,100 123,600
Al 1,285,200
- 39,500
01 Al B & A 462 1,312,400 1,188,800 123,600
OFFREBA == K= 1,188,000
Al 1,188,000
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SN ALSI S X
B Hos ¥5 2 X
& FUSX MHIAAY (&)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
10 AL SXNAIEEE2EH EX 1,355,800 1,277,000 78,800
OAtgl = X2 2] 1,355,800
- SIS M= 2 741,100
Al 675,290
- 65,810
- SZEEEMIEN 2 614,700
Al 559,830
- 54,870
SRS FT2 222 25,000 25,000 0
307 glztol & 25,000 25,000 0
10 ALSISXAIEEE2EHEX 25,000 25,000 0
O=ZSgAa=sla 22 29l 25,000
ZOOR(YIa)RH 55,300 55,300 0
Al 53,000
- 2,300
307 glzZtol & 55,300 55,300 0
Al 53,000
T 2,300
10 A SXAEHE2EHIER 55,300 55,300 0
OJI=ZE%3 294 A& 4,300
Al 3,000
- 1,300
OZCE0r 24l X 51,000
Al 50,000
- 1,000
PADHAAMSTRE AU 11,500 10,000 1,500
201 2yt 2 Y| 4,000 2,500 1,500
01 At 2teltl 4,000 2,500 1,500
ORHDALI 21 2,000,000& »23l 4,000
301 LeHBAF 7,500 7,500 0
01 MI2ZE 6= 7,500 7,500 0
O HAALX ZHUI 7,500
e=IEs 604,907 588,000 16,907
Al 604,907
307 21201 & 604,907 588,000 16,907
Al 604,907
01 22272l 2,000 2,000 0
Ok=¢ol oz - 2tHbl 2,000
Al 2,000
10 ALl SXNAIEEE2EHEX 602,907 586,000 16,907
OL=oXEAE 249l 602,907
-35|2oy 23| 384,184
Al 384,184




SN ALSI S X
B Fo)s 25 L X
& FUSX MHIAAY (&)
SA - BB B () - MM - BES Ol &t o San HmEET
-3FULAE 29 218,723
Al 218,723
Mol 2= 600 1,800 A 1,200
201 L2l 600 600 0
02 2324l 600 600 0
Ol ==X SEEFEANLE SHR=S 600
B=ZeS MIABTALAEY AR 13,440 13,440 0
201 Let24d] 13,440 13,440 0
02 2324l 13,440 13,440 0
OMIBEZEEAAY -T2 REZ 13,440
SXZH AR =& ALS 9,900 9,900 0
203 YR =&l 9,900 9,900 0
03 AIMZ=XH 2= H| 9,900 9,900 0
SXNZH gRF 9,900
-SXNZH= 2= 5,000,000& *90% 4,500
—Q2E" R 3,000,000 x90% 2,700
- UM JRFA 3,000,000 *90% 2,700
WEH XA LA ol 4,626 4,500 126
Al 4,626
101 @14l 4,626 4,500 126
Al 4,626
04 JI1ZtHZ22HEE = 4,626 4,500 126
OWSsH XNSAMY LAeE ol 4,626
Al 4,626
M2AZSRHE XA 574,277 388,000 186,277
= 574,277
301 LEd = 574,277 388,000 186,277
= 574,277
0B A =R RAB A4S 574,277 388,000 186,277
OMI=RRR B 574,277
= 574,277
MI=2R2E XA 109,369 109,704 A 335
Al 32,665
T 76,704
301 LEEAZ 109,369 106,704 2,665
Al 32,665
T 76,704
0B A =RRAB LS 109,369 106,704 2,665
OAZSXNEREEX AMISRA AU 31,550
Al 16,190
- 15,360
OMIZRNAE AMIIER2A S4H 77,819




M AR =X
B Hos ¥5 2 X
el FUSX MEIAAY (=& J)
= - _ L=
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Al 16,475
T 61,344
AAE L2ME B 112,753,037 97,358,922 15,394,115
= 85,044,592
Al 23,164,040
- 4,544,405
Lo 2Xsd 112,753,037 97,358,922 15,394,115
= 85,044,592
Al 23,164,040
=) 4,544,405
LO=SNEM H2FA 5,070 900 4,170
201 £B-2%H| 4,170 0 4,170
01 At 22l 4,170 0 4,170
OFIIN2 XNE AR FHdg
70,0003 x4 123 3,360
Ol At |EII2 88 o33 600
-9E g8 70,0003 x5H 13| 350
-89 50,000& 10 50
-7 HE2 20,000& »10& 200
OLQSE=s ML &I 2 83 AR
3 A 70,0003 x3Y 13 210
203 R =&Yl 900 900 0
03 A MFAH S =AY 900 900 0
OL=XNEM A2F 1,000,000& *90% 900
MASOH (=) 722,778 722,778 0
= 650,500
Al 72,278
301 LEHZ 722,778 722,778 0
= 650,500
Al 72,278
01 Al EE X =56l = 722,778 722,778 0
OLe=XAIE MAHZ 722,778
= 650,500
Al 72,278
LZAE 24 XA 961,449 927,599 33,850
= 673,014
Al 288,435
307 glz2+ol & 961,449 927,599 33,850
= 673,014
Al 288,435
10 M SXNANEHE2IHE=S 961,449 927,599 33,850
OLZAE 29l 961,449
= 673,014
Al 288,435




M AR =X
M AYS LEME B
ol Lol SN S (B9 ®R)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
LZAE SAL XY N& 24,000 22,800 1,200
Al 24,000
307 gl2tol & 24,000 22,800 1,200
Al 24,000
10 M3 SXNANEHIS2IHEX 24,000 22,800 1,200
OLZAE EMI =XE 24,000
Al 24,000
Q2 AL OFz2tZdleld olAdl XI& 42,000 38,400 3,600
Al 42,000
307 glz2tol & 42,000 38,400 3,600
Al 42,000
10 M ZXNANEHE2IHE=S 42,000 38,400 3,600
OS2 AL Or2tA |l oA 42,000
Al 42,000
Lo 294 XA 660,011 600, 860 59,151
Al 462,008
- 198,003
307 21201 A 660,011 600, 860 59,151
Al 462,008
- 198,003
10 ALSISXAIEEE2FHEX 660,011 600, 860 59,151
O =Xa 24l 660,011
Al 462,008
T 198,003
LOoI=EX2 BAN SHEZEN X 10,440 15,680 A5,240
Al 10,440
307 gl2tol & 10,440 15,680 A5,240
Al 10,440
10 M3 SXNANEHISIHEX 10,440 15,680 A5,240
OL=Xa SAN S HEEN 10,440
Al 10,440
Het @ FULAIC g=d XA 65,423 63,594 1,829
Al 65,423
307 glz2tol & 65,423 63,594 1,829
Al 65,423
02 RIZFEA MM E X 65,423 63,594 1,829
OZetZTd =QUZAE &3l 65,423
Al 65,423
LORAALE SASI XA 400,000 493,795 A 93,795
Al 400,000
307 21201 A 400,000 493,795 A 93,795
Al 400,000
10 ALSISXAIEEE2IHEX 400,000 493,795 A 93,795




A AMIEX
M AYS LEME B
Sl sol 2XEX CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OLQQAANAE S2£=IF N 400,000
Al 400,000
LOIQAAIE SAX EXNEE 288,960 288,960 0
Al 288,960
307 212t01 & 288,960 288,960 0
Al 288,960
10 MM SAANEEHESIHEX 288,960 288,960 0
OLORRAANLE SAM SXN=E 288,960
Al 288,960
HAR2Y 29| X (BXAY) 236,200 234,400 1,800
Al 188,960
- 47,240
307 212t0| & 236,200 234,400 1,800
Al 188,960
3 47,240
10 AISIEXAIEEHE2IHIEX 236,200 234,400 1,800
OZzd 294l N 236,200
Al 188,960
- 47,240
A2G 29| XS (NHHMAY) 113,460 112,620 840
307 2iz2to| & 113,460 112,620 840
06 282 900 900 0
Odz4 =oltia HAEE XIS 900
10 A SXNANEEESIHEX 112,560 111,720 840
oZzd 294dl XA 112,560
g8 224" /=2 6,700 6,650 50
Al 3,350
- 3,350
301 LBt A= 6,700 6,650 50
Al 3,350
- 3,350
01 Al E & A 452 6,700 6,650 50
Ogd dz¢4 /=2 6,700
Al 3,350
- 3,350
A2Y &=3lTz ) 2| A X AFY 35,000 34,358 642
Al 17,500
- 17,500
307 giztol A 35,000 34,358 642
Al 17,500
- 17,500
11T AISIEXAIEEX 35,000 34,358 642
OZ2Y =3|lTx )z 22X X 35,000
Al 17,500




SN ALSI S X
Hu: AUE LEME P
Sl sol 2XEX CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| - 17,500
Z2Y 45 T2 MY 16,850 16,850 0
Al 16,850
307 gl2tol & 16,850 16,850 0
Al 16,850
11T M SRASE EX 16,850 16,850 0
OZ2% g4dst 208 At 16,850
Al 16,850
Mot =XAIE 298 XA 354,276 340,956 13,320
Al 354,276
307 glz2+ol & 354,276 340,956 13,320
Al 354,276
10 ALSISXAIEEE2EHEX 354,276 340,956 13,320
OMIt-=SXNAIE 2EH XA 354,276
Al 354,276
=3 Xa 97,983,380 84,647,430 13,335,950
= 78,386,704
Al 15,675,381
- 3,921,295
301 LA F 97,983,380 84,647,430 13,335,950
= 78,386,704
Al 15,675,381
- 3,921,295
01 AR 2Z A 53 97,983,380 84,647,430 13,335,950
OJl=da XNa 97,983,380
= 78,386,704
Al 15,675,381
T 3,921,295
CORESZALAAY 2,273,600 0 2,273,600
2 1,591,510
Al 682,090
307 glz2tol & 2,273,600 0 2,273,600
= 1,591,510
Al 682,090
11T M SRASE EX 2,273,600 0 2,273,600
OLolstEssSMEIAALY 2,273,600
= 1,591,510
Al 682,090
SHLO SETM SSAHHLHMEA 2EX2 39,816 39,448 368
= 19,908
Al 19,908
307 glz2+ol & 39,816 39,448 368
= 19,908
Al 19,908
11T MISAASEX 39,816 39,448 368




SN ALSI S X
M AYS LEME B
ol Lol 2X =X (el @2)
SA - BB B () - MM - BES Ol &t o San HmEET
OSHL SSTMY SSHALHMHA 2
=P 39,816
= 19,908
Al 19,908
e QAN HEXAS NE 203,350 189,900 13,450
Al 203,350
301 EEMZ 203,350 189,900 13,450
Al 203,350
01 MI2ZE 6= 203,350 189,900 13,450
ORI BEXNHAS 203,350
Al 203,350
2Y FANE* 58,000 82,500 224,500
401 A& HIZ 201 Y] 50,000 80,000 A 30,000
01 A& HI 50,000 80,000 230,000
OZ2g |RAZ = 50,000
405 Xt&tE SHI 8,000 2,500 5,500
01 AL EFH S 8,000 2,500 5,500
OZ2g == =z wH 8,000
HESH MO AlAHZ 52,675 52,675 0
Al 52,675
307 gl2tol & 52,675 52,675 0
Al 52,675
11 AL S XALEE = 52,675 52,675 0
OHEEH IOl AAIBE 52,675
Al 52,675
dERAY RE2IAANG(EX) 216,926 192,934 23,992
Al 216,926
307 g2+l & 216,926 192,934 23,992
Al 216,926
11T MISRASER 216,926 192,934 23,992
ozzalg X 216,926
Al 216,926
dZ2AY RS AAY (XA 11,000 12,000 A 1,000
201 YEr2 Y| 7,000 8,000 ~1,000
01 At 22l bl 2,000 2,000 0
OFaAgY 2%l 2,000
02 =224l 5,000 6,000 A 1,000
OZZ2AE ANERA & E= 5,000
405 RHoHE S HI 4,000 4,000 0
01 et EFSFHSHI 4,000 4,000 0
OZzAg i+ 4,000




SN ALSI S X
Hu: AUE LEME P
Sl sol 2XEX CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Lolwal 23l 36,000 36,000 0
Al 28,800
- 7,200
307 gl2tol & 36,000 36,000 0
Al 28,800
- 7,200
10 AL SXNAIEEE2EH EX 36,000 36,000 0
Okolwa 244l XA 36,000
Al 28,800
- 7,200
ALIGEY 29 285,292 274,908 10,384
Al 242,511
T 42,781
307 glz2+0l & 285,292 274,908 10,384
Al 242,511
T 42,781
10 ALSISEXAIEEE2EHEX 285,292 274,908 10,384
OALIZ28 2gdl XN& 285,292
Al 242,511
- 42,781
Lolgditiel ¢ A ESXH =i 7,299,986 5,568,218 1,731,768
= 3,649,993
Al 3,649,993
307 21201 A 7,299,986 5,568,218 1,731,768
= 3,649,993
Al 3,649,993
11T AL S XA E = 7,299,986 5,568,218 1,731,768
OLoldiel & AslEs AFHH X3 7,299,986
= 3,649,993
Al 3,649,993
COETAY AtglEHHEdEs X 58,543 48,779 9,764
Al 12,000
T 46,543
307 glz2tol & 58,543 48,779 9,764
Al 12,000
- 46,543
02 It M AMHEE 17,443 17,443 0
OLotHH Sd&as A 10,943
OZ2E3E Lowsd FItwsH| 3,200
O&JI - =tz XA 2,000
OoBioleg &AL W X & 500
Okeloyd AL & X2 800
03 QIAHMNHE2IHIEE 37,100 27,336 9,764
Oy s9a8s 234l 24,000
Al 12,000




A AMIEX
Hu: AUE LEME P
Sl sol 2XEX CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
- 12,000
O3z3 & 89| 13,100
-&I 23 300,000& x12& 3,600
- MNolEE 22 100,000& ~12& 1,200
S| HASSE MFH| 6,000& x12& 72
-s&0] EIIEA 130
-d3Xx HA 104,000& *23| 208
—AZ23 & ANEEH KIS 22 2,000
—&ojotM e e =2 100,000 x12& 1,200
-S| HEAEAE U =2
140,000& x12& 1,680
— 20 AU AIAE AX ZAHH] 250
— 20 AHIANAY E2HH| 130,000& x12& 1,560
— AN AEA HE =42 100,000 x12& 1,200
04 SIZ2ISHAAISH E & 4,000 4,000 0
OLolMENsUa EIIKNH 4,000
A2 & dueiyl 2 =24l X 291,852 216,400 75,452
=2 72,963
Al 145,926
- 72,963
307 QI2t01 & 291,852 216,400 75,452
=2 72,963
Al 145,926
- 72,963
10 A SXNANEEHESIGHEX 291,852 216,400 75,452
OFag wowy ¥ 22 X 291,852
2 72,963
Al 145,926
- 72,963
ool ol &0 & skA 20,491,806 17,146,693 3,345,113
= 12,028,224
Al 8,431,522
- 32,060
ZHojel HASE 20,491,806 17,146,693 3,345,113
= 12,028,224
Al 8,431,522
- 32,060
MHAI(ZOoH) 215,000 216,111 A1, 111
= 193,500
Al 21,500
301 et M= 215,000 216, 111 A1
= 193,500
Al 21,500
01 Al E& A 252 215,000 216,111 AT,111
OFEOMAUAHATAIE MHSO 215,000




AN ALEI =X

M mojolol MOl B s
Sl FOHY AABA CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
= 193,500
Al 21,500
HOHQAUHFAIE 2NN (BX) 2,250,460 2,250,460 0
= 1,575,322
Al 675,138
307 QI2t0| & 2,250,460 2,250,460 0
= 1,575,322
Al 675,138
10 Al SXAIEEE2IHIEX 2,250,460 2,250,460 0
O&OMAHFAIAE &HFAQI2AH| 2,114,460
= 1,480,122
Al 634,338
OFOMAHFTAIAE 22| 2EH| 136,000
= 95,200
Al 40,800
ORI HFAIE AlHIXIA 66,176 72,113 N5,937
Al 66,176
307 212t0| & 66,176 72,113 N5,937
Al 66,176
10 M SXNANEEHESIHEX 66,176 72,113 N5,937
OFMHAUANHFAIE SAXN SXE 62,400
Al 62,400
OFMAHFAE BSZEH E ZHRAY 1,184
Al 1,184
OZOMAHFTAIAE EHOHOI2AY, HES0lY 2tAHI 592
Al 592
OZOMAHFAIAL RS H| 2,000
Al 2,000
ZofOl Mool DREAR AY K 25,562 25,562 0
Al 25,562
307 212t0| & 25,562 25,562 0
Al 25,562
11 A SEXNAEE X 25,562 25,562 0
OXFOQ Xl 2 &AH AIE A& 25,562
Al 25,562
OIS HEANE 2GR 556,079 531,226 24,853
Al 556,079
307 ©I2+0I & 556,079 531,226 24,853
Al 556,079
10 Al SXNAIEEE2IHIEX 556,079 531,226 24,853
OZOMAXMATEAlAE & ROI24H]| 465,995
Al 465,995
OFOMAMAME AL 22| 2| 40,084
Al 40,084
OZzzgass 2228 2% 1 50,000




2N
X ZH -
L= B

el

NEE
ZOHQIOl &rol B a4

ZOHOl HASA

=

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

| Al 50,000

ZOHAXATHEAIE THOLEOHR! S4ldl K& 37,296 34,640 2,656
Al 37,296

307 gl2tol & 37,296 34,640 2,656
Al 37,296

10 M3 SXNANEHI2IHEX 37,296 34,640 2,656
OXOHAXATHE A S THOLEOHQ! ZSAH XI&A 37,296
Al 37,296

Zopel=X2 2 X2 1,077,747 1,002,854 74,893
Al 1,077,747

307 2Iz2t0l A 1,077,747 1,002,854 74,893
Al 1,077,747

10 M SXNANEHE2IHE=X 1,077,747 1,002,854 74,893
OS2 HAAH| 984,443
Al 984,443
OFH=R2 2el2gl 93,304
Al 93,304

GEFe s4dE XA 5,000 5,000 0
= 3.500
Al 1,500

301 LEAZ 5,000 5,000 0
= 3.500
Al 1,500

01 A3l EE & 56l = 5,000 5,000 0
O&ZHel s4tHIE XA 5,000
= 3,500
Al 1,500

eIzt ESAIE 2 XA 310,060 209,423 100,637
Al 310,060

307 2I2t0l A 310,060 209,423 100,637
Al 310,060

10 AL SXAIEEE2EHEX 310,060 209,423 100,637
OZMI=2tES AL 21 AH| 279,060
Al 279,060
OXAF2AESAIE 222 31,000
Al 31,000

ZEsMEINE 2SI XA 121,964 115,313 6,651
Al 121,964

307 21240 & 121,964 115,313 6.651
Al 121,964

10 M ZXNANEHI2IHE=X 121,964 115,313 6,651
OZMASSHUEIIE Q24| 97,964
Al 97,964
OXel=sHaIE 2el2gl 24,000




D AEIE XD
=YV LIE-TRPNE-TRE I3

= oo

LB AABH

=

SN HH-S(BN) - MBAY - B il HlnE2
| Al 24,000
=S 2N 167,100 157,904 9,196
Al 167,100
307 gl2tol & 167,100 157,904 9,196
Al 167,100
10 M3 SXNANEHI2IHEX 167,100 157,904 9,196
Ox=0ESgdEH el 155,100
Al 155,100
OF=HSYHEH 2222l 12,000
Al 12,000
Huad2geass XA 2,000 2,000 0
307 21201 A 2,000 2,000 0
11T AL SXAEE = 2,000 2,000 0
Ox=0una2gdadst X 2,000
SSTHL NEHEEMEHKH 165,488 80,000 85,488
= 62,195
Al 103,293
307 glz2tol & 165,488 80,000 85,488
= 62,195
Al 103,293
10 MBI ZXNANEHI2IHES 165,488 80,000 85,488
OZSZSZ X MHadH 165,488
= 62,195
Al 103,293
2I7 = 11,425 9,425 2,000
= 9,140
T 2,285
301 LPEAF 11,425 9,425 2,000
= 9,140
T 2,285
01 MEIBEZE 2053 11,425 9,425 2,000
O&FMHAUAEXI|? WNFALY 11,425
= 9,140
- 2,285
ZOHAUEER =2lALY 115,220 105,220 10,000
Al 115,220
307 21201 A 115,220 105,220 10,000
Al 115,220
11T AL SXAIEE = 115,220 105,220 10,000
OFMHAZBET =2lAt X 115,220
Al 115,220
HAS XA At ZEAES X 13,000 13,000 0
307 glz2tol & 13,000 13,000 0




SN ALSI S X
M mojolol MOl B s
el Fojel AAUEA cholE )
SA - BB B () - MM - BES Ol &t o San HmEET
02 It M AHE L 13,000 13,000 0
OZOAEH SAES AtHH K& 13,000
e SN N (EX) 6,769,230 5,121,721 1,647,509
= 4,738,461
Al 2,030,769
307 glz2+ol & 6,769,230 5,121,721 1,647,509
= 4,738,461
Al 2,030,769
11T MISRASEEX 6,769,230 5,121,721 1,647,509
O&oeras XA 6,769,230
= 4,738,461
Al 2,030,769
ZoHolEs XIJAAY AlHIZ=Ot 352,513 286,644 65,869
Al 352,513
307 21201 A 352,513 286,644 65,869
Al 352,513
11 ALS S XAEE = 352,513 286,644 65,869
OZOMES KIHAH AlBIZ=It 352,513
Al 352,513
ZOfolEs NIAY oA 2,380 2,380 0
201 L2l 2,380 2,380 0
01 At 2t 2l 2,380 2,380 0
OZMAESXH AR =Y 2,380
LYMEAMEIA HIR™ K& 760,119 824,924 A 64,805
= 532,083
Al 228,036
307 21201 A 760,119 824,924 A 64,805
= 532,083
Al 228,036
11T MISAASEX 760,119 824,924 A 64,805
OLEMHE Ml A 760,119
= 532,083
Al 228,036
OHLERH B2X XA 5,120 4,385 735
= 3,584
Al 1,536
307 21201 A 5,120 4,385 735
= 3,584
Al 1,536
11T AL S XA E = 5,120 4,385 735
O ZEX & 5,120
= 3,584
Al 1,536
LEHETMC 224G 5,100 1,000 4,100




AN ALEI =X

Ha: FHOHOIo MOl B Sa

el Zojol AUBH (el @2)
. _ = SfE|
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 3.570
Al 1,530

307 2iz2to| A 5,100 1,000 4,100
= 3,570
Al 1,530

11T AISIEXAIEEX 5,100 1,000 4,100
O &oe 2R A A 5,100
= 3,570
Al 1,530

S HHR FHESHEU AT 211,200 67,762 143,438
= 147,840
Al 63,360

307 2I2+0| & 211,200 67,762 143,438
2 147,840
Al 63,360

11 Al EXAIEEX 211,200 67,762 143,438
Ogg el =2 SMHHIAXE 211,200
= 147,840
Al 63,360

HAaE SIS Ss=ssHEA 288,558 71,772 216,786
= 201,991
Al 86,567

307 2Iz2t0| & 288,558 71,772 216,786
= 201,991
Al 86,567

11T A EXAIEEX 288,558 71,772 216,786
OFAE LIS SRS SEMHIA 288,558
= 201,991
Al 86,567

Moo X2l X (LersARel) 669,304 558,650 110,654
= 334,652
Al 334,652

301 et A =2 669,304 558,650 110,654
= 334,652
Al 334,652

01 Al E& A 46 2 669,304 558,650 110,654
OXFOQ et X2 AL 669,304
= 334,652
Al 334,652

Zofeled xiel XY (=2XLRel) 286,754 216,480 70,274
= 143,377
Al 143,377

301 et ™M= 286,754 216,480 70,274
= 143,377
Al 143,377

01 Al E& A £5 3 286,754 216,480 70,274




AN ALEI =X

Ha: FojoIol sl B A
Sl FOHY AABA (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OO XL XelALS 286,754
= 143,377
Al 143,377
Zhoj el X2l KIS (AIZERIE XEel) 111,612 100,612 11,000
= 55,806
Al 55,806
301 dEtE M= 111,612 100,612 11,000
= 55,806
Al 55,806
01 Al B & A 462 111,612 100,612 11,000
OXOHQI L Xtel K2 (A EA L XHel) 111,612
= 55,806
Al 55,806
OIS A Olsk HOSE XA 1,175 2,000 A 825
201 et | 1,175 2,000 A 825
01 AP 2t 2| H| 1,175 2,000 N 825
OXHMAXSX EX S HE 975
OFXAL BEH2Z XM 52 25 M 200
el =2 20 X3 4,535,510 3,734,903 800,607
= 3,174,857
Al 1,360,653
301 dEtE M= 4,535,510 3,734,903 800,607
= 3,174,857
Al 1,360,653
01 Al B & X 262 4,535,510 3,734,903 800,607
O&feA=Za =20 X2 4,535,510
= 3,174,857
Al 1,360,653
oSS II=E) NS 607,546 612,000 N4, 454
= 425,282
Al 182,264
301 et M3 607,546 612,000 N4, 454
= 425,282
Al 182,264
01 AR E & A 452 607,546 612,000 N4, 454
OFM==IIx) X3 607,546
= 425,282
Al 182,264
S (HARAS) X2 373,462 384,652 A 11,190
== 261,423
Al 112,039
301 et A =2 373,462 384,652 A 11,190
=2 261,423
Al 112,039
01 Al B & A 462 373,462 384,652 A 11,190




2N
X ZH -
L= B

el

Akl = X1 ot

moyorol &
Zojor Aol

o Lo
>

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

OFM==(H&AE) X2 373,462
2 261,423
Al 112,039

ZOHQ MeE=+< 155,000 168,000 A 13,000
Al 155,000

301 LEPEAZ 155,000 168,000 A 13,000
Al 155,000

01 MEIBZE 263 155,000 168,000 A 13,000
OO &Y 155,000
Al 155,000

Foperelzdl X 182,629 127,533 55,096
= 146,103
Al 36,526

308 XXIEHHSOIA 182,629 127,533 55,096
= 146,103
Al 36,526

1037/ 2S0HUHeSBSHAE ALS I 182,629 127,533 55,096
O&oere=zdl XI& 182,629
2 146,103
Al 36,526

HASEe MH 2 ZAH XI& 5,600 5,600 0
= 2,800
Al 2,800

301 LEXZ 5,600 5,600 0
= 2,800
Al 2,800

01 MEIBEZE+05l= 5,600 5,600 0
OZOML S5 AEH L A AHH| 5,600
= 2,800
Al 2,800

SERHAINT RBAHIE AR 4,000 4,000 0

307 21201 A 4,000 4,000 0

11T MISRASEX 4,000 4,000 0
OSSEMUINT SIS ME A HI 4,000

oo ESXNASH NA(IMSH) 18,197 9,844 8,353
= 12,738
Al 5,459

307 21201 A 18,197 9,844 8,353
= 12,738
Al 5,459

11T ALS S XAEE = 18,197 9,844 8,353
O 2sXNES0H NI (Ita=0) 18,197
= 12,738
Al 5,459




AN ALEI =X

Ha: FHOHOIo MOl B Sa

el Zojol AUBH (el @2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
SOOI AU ST ALY 1,700 0 1,700
201 gBt24d| 1,700 0 1,700
01 AP 22| H| 1,700 0 1,700
OHOMAUAAIINSE AL 1,700
S RO QIQIAIDH A AR 4,680 4,680 0]
201 LBt ]| 1,680 1,680 0
01 AP 22| H| 1,680 1,680 0
O ZAfel XIR/AKA3 HE 940
-3 HAH =G 70,000 x6H x23| 840
= 100,000 = 10K 100
OCMZE & Ro=2 M 740
307 2Iz2t0| A 3,000 3,000 0
11 A EXAIEEX 3,000 3,000 0
OOl QIAMIIAAIE K& 3,000

BRI F2UHESAHU A =23 HBHA/AR =Y 840 0 840
201 LEt2 9| 840 0 840
01 A2 22|l 840 0 840

OLY MR F2E8SHEA = HAAA/ARA
Ach 840
HE2AZHI (AL S X 1) 92,185 84,274 7,911
Jl23&dtl 92,185 84,274 7,911

Jl2dtl 92,185 84,274 7,911
201 B2 H| 17,535 16,264 1,271
01 At 22| i 17,535 16,264 1,271

O=AMNEX 7L 1,200
OEH & FYHl 3,303
—SHWIZIH(Z&A IF)
120,000 *2CH *23] 480
—FHEZEH (K, Z) 4150003 *324 x13] 1,245
—2HIZZEH (XK, &) 264,000 * 144 «23 528
—ZHZ2lE () 70,0003 x4 x13] 280
—ZZely &8 385,000& *23| 770
ORM&9 JIS2+&Hl| 10,000 *19H x12& 2,280
OAlZt2l 22X 24l
8,000 5. 541 «19H 12 10,032
ollEx=sgz 15,000& *4E5 +12& 720
202 O b 63,840 60,480 3,360
01 =LH 4 HI 63,840 60,480 3,360
O A bl 280,000& x199 «12& 63,840




SN ALSI S X
M HHE2HAH (A =X H)
& 123l (&)
SA - BB B () - MM - BES Ol &t o San HmEET
203 YR =&l 6,570 6,570 0
01 J122E YR =4 2,970 2,970 0
O=EXNZEH=% 3,300,000& x90% 2,970
04 NI FAH 3,600 3,600 0
ORNM2ZI2F&HI(2021015t)
300,000& x12& 3,600
405 TtatF S| 4,240 960 3,280
01 AL EFFHSH 4,240 960 3,280
OL=2X wH 240,000 =154 3,600
O3J183J #¢ 640,000 »1CH 640

_20_




